
Exercises
December 7, 2006

ATTR LVA 703610 Computatinal Logic,
University of Innsbruck

Exercises.

7.0 Study Section 7.4–7.5.

7.1 Let % denote a preorder that contains Aemb for some WPO A. Show that the
strict part � of % is well-founded.

7.2 Use Theorem 7.5.5. to prove termination of the TRS from Exercise 7.28 a).

7.3 Use Theorem 7.4.10 and/or 7.5.5 to prove termination of the TRS from Exercise
7.22.

7.4 Show termination of the following TRS:

(x−1)−1 → x

(x + y)−1 → x−1 × y−1

(x× y)−1 → x−1 + y−1

x× (y + z) → (x× y) + (x× z)
(y + z)× z → (x× y) + (x× z)
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